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Cg@ %% Addition von Briichen ( gemischter Bruch )

Name: Datum: Ergebnis:
L1 2,1
3 5 3 7
1 7 5 1
4+ - = — +3=- =
14 8 7 32
4 1 2 2
—+l-= -+ - =
8 3 4 6
2 1 I 2
Z41- = _4+ =
4 4 5 6
2 1 5 4
5 9 9 7
1 3 1 1
7 6 3 6
6 7 3 1
24 l= Z4l-=
9 8 6 4
3 2 3 6
1=+ 2= 242 =
4 6 77
5 2 6 1
4+ == — 4+ - =
9 3 9 7
1 3 4 2
I-+-= —+ ==
6 6 9 7
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Addition von Briichen ( gemischter Bruch )

Name:
1 1 23 8
-+ -="=1—
35 15 15
11+7_17_21
4 8 8 °8
4+H_1yﬂ5
8§ 3 6 6
2+H—7—13
4 4 4 4
2 1 23
_ — = —
5 9 45
1 3 9
-4+ - =
7 6 14
6 7 37 13
— 4+ =_=1=
9 8 2 24
3,2 5 )1
4 6 12 12
5 2 11 2
4+ =_=1Z
9 3 9 9
11+3_5_12
6 6 3 3

Datum: Ergebnis:

2 1 38 17
1Z+-=2=1—
3 7 1 21
Sl _¥ 3
7 2 1 14
2 2 11 5
1Z+2=—"=12
4 6 6 6
I 2 8

4+ =

5 6 15

5 4 71 8
===
9 7 3 63
I 1 1

4+ ="

3 6 2

3 1 7 3
Z+1=_-=1Z
6 a1y

6 1 17
— —|— —_ = —
9 7 21
4 2 46
_—t - = —
9 7 63
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